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Answer:

1) (813)20 2) (813)20 3) 1100 + 100
Answer: Answer: Answer:
4) Find perimeter of 5) 49 - (0) 6) 34% of 32
b rectangle having
sidesa=41in
a andb=28in
Answer: Answer: Answer:
7) Round 12.6697458 to the nearest 8) Round 1.844 to 1 decimal places. 9) 4000 + 1000
whole number.
Answer: Answer: Answer:
10) 107, x /5 11) $431.00 earning 4% compound 12) Convert the following fraction into a
interest for 1 years. mixed number: 20/g
Answer: Answer: Answer:
13)  What would you multiply by to 14) Round 9.32 to 1 significant figures. 15) W+ 17,
decrease an amount by 31%?
Answer: Answer:
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16)  Write 6 x 102 asanormal number.

17) $178.00 earning 3.7% compound
interest for 3 years.

18) /

‘Name the type of angle.

Answer: Answer: Answer:
19)  Increase 24 by 75% 20) Factorise 9x2 + 20x + 4 21) 435 x 1Y,
Answer: Answer: Answer:

22)  Simplify 7:19

23) 148x 5.9

24) A number was shared in theratio
18:9. The smaller share was 29.
What was the total amount shared?

Answer: Answer: Answer:
25)  Write 8 x 104 asanormal number. 26) L/gq of 183 27) 99-98

Answer: Answer: Answer:
28) 99- 98 29) 5 4g-2 g 30) Find area of

b rectangle having
sidesa=64in
a andb=57in
Answer: Answer: Answer:
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Find the next three numbersin
the sequence
64,60,240,236,944,940,3760 __,

Answer:

31) 20140+ 32) (-15) = (-3) 33) Convert the following mixed number
98/g to an improper fraction.
Answer: Answer: Answer:
34) 306.25+175 35) Decrease 55 by 60% 36) Decrease 55 by 60%
Answer: Answer: Answer:
37) Decrease 188 by /g, 38) 39) Simplify 11:4

Answer:

40) A number was shared in theratio
1:7. The smaller share was 14. What
was the larger amount?

Answer:

Total: /40
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1) §260
8) 18
15) %51
22)7:19
29) 3%
36) 22

2) §260
9) 4

16) 600
23) 87.32
30) 3648in
37) 186

311
10) 16%/3
17) $198.50
24) 87

31) 2/,

38) 3756,15024,15020,
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Answers:

4) 138in

11) $448.24
18) Obtuse
25) 80000
32)5
39)11: 4

GEN

5) 49
12) 345
19) 42
26) 3
33) 894
40) 98
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6) 10.88 7)13
13) 0.69 14)9

20) (1x + 2)(x + 2) 21) 6%
27)1 28)1
34)17.5 35) 22
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